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QUESTION 1

You upgrade an ESXi 4.x host to an ESXi 5.x host using VMware Update Manager. It appears to complete the
installaton, but the system does not boot. You decide to roll back the host to the previous build. Afer using the Shif-R
opton on boot up, you receive the error "No alternatve hypervisor to roll back to". What is causing this error? 

A. The hardware is not supported with the ESXi 5.x. 

B. The ISO fle in the baseline is corrupt. 

C. The data store containing the operatng system has become corrupt. 

D. There are diferences in the boot loaders between the two versions. 

Correct Answer: D 

 

QUESTION 2

Which two statements are true regarding VMWare Update Manager? (Choose two) 

A. Update Manager contains, by default, multple default baselines. 

B. Afer installing the Update Manager plug-in, you need to immediately create baselines and baseline groups. 

C. Update Manager can only upgrade virtual machines. 

D. Baselines and baseline groups can be created to upgrade hosts, virtual machines, and virtual appliances. 

Correct Answer: AD 

 

QUESTION 3

Which three statements are correct about vApps? (Choose three.) 

A. vCenter is required. 

B. vApps contain virtual machines. 

C. vApps defne resource setngs. 

D. vApps specify virtual machine failover. 

E. vApps include virtual vSwitch confguratons. 

Correct Answer: ABC 

 

QUESTION 4

You are implementng 32 new UCS B230 M3 blades into an existng Vblock System with 16 blades. Afer 
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powering the new blades on, and migratng them to the Cisco Nexus 1000V, you notce that half of the new 

blades no longer respond to any network trafc. 

What is the cause? 

A. There is insufcient vSphere licensing to license the new hosts. 

B. There is insufcient Cisco licensing to license the new hosts. 

C. The network drivers need to be updated. 

D. The Cisco Nexus 1000V is limited to 32 hosts. 

Correct Answer: B 

 

QUESTION 5

In which two situatons does a USB device reconnect to a VM automatcally with USB auto connect enabled? (Choose
two.) 

A. The USB device is unplugged from the host then plugged back into the same USB port. 

B. The USB device is unplugged from the host then plugged into a diferent USB port. 

C. The device is mutatng identty during usage. 

D. The virtual machine is powered of. 

Correct Answer: AC 
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